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1. Calculate the sum of the first 10 terms of each arithmetic series. (/2 g = %&B
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2. Calculate the sum of the first 20 terms of an arithmetic sequence with first term 18 and common difference
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4. Determine the sum of the first 20 terms of an arithmetic series in which the 15" term is 107 and terms
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5. Calculate the sums of these finite arithmetic series (example 2 in notes)
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6. Bricks are stacked in 20 rows such that each row has a fixed number of bricks more than the row above it. The
top row has 5 bricks and the bottom row has 62 bricks. How many bricks are in the stack?
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7. Jamal got a job working on an assembly line in a toy factory. On the 20th day of work, he assembled 137 toys.
He noticed that since he started, every day he assembled 3 more toys than the day before. How many toys did
Jamal assemble altogether during his first 20 days? = y ( / 3
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8. Given the arithmetic sequence below, determine the sum of the@h term to the 39" term.
5+12+19+ ... ‘}EJ‘N\S

T

Loty fd 4, o) byq vy T
o=6 ,d =77 Do ek = 0L __
fyw T By e (10 ) o
Lo ™ 5-133 2{37:5‘4354 5, = ;Q/"w* 51
2
ﬁ_loi /3% é:?j': Q7/ S;o: {O/}§g+;)7j)

Soo = 070



